‘e Can you find out the next two flowers where

L Mem s e B — e e

W7 : segments are required for thirfeen Na.

, E NS S b patdmS P Y
A'gb 'Ag' i : ..;..m/‘\fu..u'llé_‘rf.u

e e

sub-Domain (I):
Number Sequence and

Sol. Pattern (2#/) 2n + |
g Required number of line bagmat of thirteen Ns -
IS hee b, ) £ Ny = 1)

EEEREEEEEREESIEN

. . = |3=2nt|
PattEI'ﬂS é”{/"&d.’ﬁ =2(13)+ |
JENERT e S - — =26+1
1 s =27
H Try Yourselt: .JUTJI' ¢ Can you find out the nth term o the glven

, Can you find the next three terms of the given
number sequence.

-uféfrl"’kﬁy/cftﬂ&w&g]‘jnd,&(‘;* ,‘k{
sol. 5, 11, 18, 26, 35, 45, 55

o Can you find out the next three terms of the
given number sequence?

B ESPEI L 3 s T
Sol, —23. 23! -3

number sequence?

BE S 2 7aidnng T
Sol.an=2n+23

L R R T

Solved Exercise 2.1.F

S GNP ETIIBIPIITrP BTN ¥ 4

1. What number is added to make the sequence?
T Thalyld Lt

o Can you find out the next three term of the given : Sol. Difference between 1st and 2nd term =8 - 4 = 4

PARB RIS PERI RS

(i) 4,8, 12,16, wues

aumber sequence?

-u_?&g./()l"ufyld Jl&lbﬁ.ﬂ"}dr d}&lxl.r 14
Sol.-5,0.5,-0.05

Skill Practice: : > J.i I

J/'\-;wl_&d /sml(k: ,
So 4 is added eV ad v
(i) 12,17,22,127, .,y
Sol. Difference between Istand 2nd term = 17-12=§

JAwaﬁd/,mi&f
So 5 is added WU sl

ShEsbIRIRRRRY

flowers where butterfly will sit? Also tell the rule

R R R Y Y Y T

of pattern? (iii) 28, 34, 40, 46, .....,
..z_.Gu‘u)WLA:U{'}&&@:-E:(U},{,,L:Vf&f Sol. Difference between 1st and 2nd term = 34 28 = 6
Sol. 80, 100 Pattern (2+°) + 20 : ALl g i

¢ If the nth term of a number sequence is n3 - §,
then find the 2nd, 3rd, 4th and Sth terms of the
given sequences.

So 6 is added Ve L
(iv) 101, 106, 111, 116, «crsy
Sol. Difference between 1st and 2nd term = 106-101=35

addddne

J/p"’f&[t&lﬁd/f-‘dﬁ’k"" - 5?"-[‘“&(-;\5"""!% J)ukué.(zd/:m'&:

Sol.an = nd - § So S is added Ve s L
:2 - g;i - ; » §7- 55‘:32_, 2. What number Is multiplied to make the squence.
M= (4))_ 5 =64~ 5=59 -l e/ L LS

u=(5P-5=125-5=120 @i 3,6,12,24, ...,

: Sol. The ratio between 2nd and Istterm = — =2
| g 3 vl T 3
‘ n Activity: d)} A 3 ..-,-HJ Hﬂk:/"d 19
i < | O3 )
¢ Look at the given shapes -UiJe JW : So 2 is multiplied Je e 28
N NN N\N : (il) 5, 10, 20, 40, ....., '
* The number of line segments required to one N ; 10
is 3. -+QJ;MMWJ¢£L*-/N~[' : Sol. The ratio between 2nd and 15t term = ) oo 2
*  The number of line segments required two Ns is 5. 2 g on
-;...—.»/JB&W&&A—ﬁLh/ Ns» 3 So 2 is multiplied J:"-.-s)‘- 2
. * To continue this pattern, for three Ns 7 line : (iii) 6, 18, 54, 162, .....,
segments are required. : N » b AR
-c,:--w:/'JU.:W.:-LwNscff_niadaka/u" Sol. The ratio between 2nd fmd 1st term = T" 3
* Can you develop the nth term or general term ; &fd‘ﬁd/’!m’&: .
for this pattern? Also find how many line So 3 is multiplied June A3 x

S ——
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(iv) 7, 14, 28, 56, «.ceey

14

Sol. The ratio between 2nd and 1st term = 5 = 2

.—_-,rL( H:d /uulg,k's{

So 2 is multiplied

S 2

3. Use the first three terms in the pattern to find

SENILGELLE S fe e

the rule.
(i) 52,57, 62, ...
Sol. a; —4aj =57-52=5
a3—axy = 62-57=5
Sorule isadd 5 -q/&fslgdﬂﬁ
(ii) 78, 85, 92, .....
Sol.a; —a,=85-78= 7
a3—a;=92-85=7
So rule is add 7 -u‘/(‘ff7¢dy‘lu"
4. Use the pattern rule to make the Sequence.
Lo L s
(i) Start at 8 and add 2 each time,
S 2y ST
Sol.a;=8,2,=8+2=10, a;=10+2=12,
ayu=12+2=14,
So pattern 8, 10, 12, 14, ......
Ry
(ii) Start at 3 and multiply 2 each time.
-;J?ﬁ;.ZZ:.f C.v)cS
Sol.a| 332 3Ix2=6, a;=6><2=12,
ay=12x2=24, 3,6,12,24, ......,
So pattern is 3, 6, 12, 24, ...... an =ap; X2 .. a;=3

e

9. Find the missing terms in the given requence

LI i A S st

(i) 7,10,13,

» 25

Sol. 7, 10, 13, 16, 19, 22, 25

(ii) 6,12, 18,

, 42

Sol. 6, 12, 18, 24, 30, 36, 42
(iii) 23,20,17, ___,

5

Sol. 23,20, 17, 14, 11, 8,5

(iv) 98,96,94, _ ,

, 86

Sol. 98, 96, 94, 92, 90, 88, 86
6. Find the General term of the following number

sequences.

@) 6,13,20,27,...
Sol.a;=7(1)-1=6
2,=7(@2)-1=13
a;=7(3)—1=20
a=7 (@)-1=27

aﬂ 7n~l

-t[j? o &df%—&dl"’" J_ Sru0d 3 sl

(i) 5,7,9, 11,..

Sol.a;=2(1)+3=5
32=2(2)+3=7
a,=2(3)+3=9
a,=2(4) +3=11

zi,, =2n'+3

lDbbbbtnlbibtbblhbbb')bil’)lblil'lIl)shlbhbb»)illllnliblinbbo'pnbpb)nlbliypblballlln.loiuulrrtn

‘C‘Cl!(“lIIl‘i“(‘l'{lldd!l'llll!ll114lll‘ldllll‘flﬂllil!O‘idll!‘lllll“i(!l“111||‘l‘llld'l‘ll"‘!il“l.‘l.lbb'blblbb‘

(iii) 4, 9, 14, 19,....

Sol.a, =5(1)-1=4
2,=5@2)-1=9
a3=5(3)-1=14
ay=54)-1=19

a,=5n-1
7. Find 30th term
sequences..
(i) a,=2n+1
Sol.a,=2n+1
n=230
a3 =2(30)+1
30 =60+ 1=61
(iii) a,=5n -2
Sol. a, =5n -2
n=230
330=5(30)—2
=150-2
=148

ey
(iv) 2,12,22,32,.... :
Sol.a; =10(1)~8=» 1
32:”)(2)-8=I7 |
33" 103)-8=2
-104)-8=3

aﬂ lOn8

|

from the follwoing nump,,

AL L p s,
(ii) a,=3n +4 ‘
Sol. p,=3n+4
n=30
a3 = 3(30) +4
=90+4 =94

3
2n+1

3
2n+1
n=30

(iv) a, =

Sol. a, =

3

a30 =

ey M, 3
2(30)+1 ~ 60+1 g

8. The general terms of the number sequence are
given. List the first four term in each sequence.

LSS S B L

() 2,=3n+5
Sol.a,=3n+5
n=1lia=3(1J+5=3+5=8

n=2:a=32)+5=6+5=11
n=3:a3=33)+5=9+5=14
n=4:a3,=34)+5=12+5=17
The first four term are 8, 11, 14, 17

-JJ? i
a,=8n+2
.2, =8n+2
n=1:a;1=8(1)+2=8+2=10

n=2:a=82)+2=16+2=18
n=3:23=8(3)+2=24+2=26
n=4:a,=84)+2=32+2=34
The first four term are 10, 18, 26, 34

Ll Or
(iii) a, = Sn2 + 1
Sol.a, = 5n2 +1
n=1:a,=51P+1=5+1=6
n=2:a,= '

The first four te
il O
(ivya,=4n+12
Sol.a, =4n+ 12
=4(1)+12=4+12=16
a=4(2)+12=8+12=20

52r+1=54)+1=21
n=3:a;=53P+1=509)+1=46
n=4:a,=54)+1=5(16)+2=8l
are 6, 21, 46, 81
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=A@ H12= 12412224 A
~4@)+12=16+12=23

Number of balls in second carton= 25

] t foyr term 16, 20, ; ?‘D’.JLJJ.J-';”J{.. 51_/11
The firs V:)Lb / 24,28 é Difference (J/) x3 23 . y
i i So,ruleis+S$ e K5
that is 17¢m tall £ ' ;
o A it 3 gI'OWS-Z'.cm cach week. 3 Number of balls in third carton = 25+ 5~ 30
B R e 1Ayl Sl i/
| ® Comp‘“;‘; the Sq;l"'“ SIS s> i Number ofbau} in Lorurth carton = 30+ 5= 35
17, 32 £y 23 i 4 WSS e s s,
1 week 2 }\ileck 3 week, . : Number of ballj/inl}ﬂh cartor; = 35+5=40
by 2l il 3 U '.Lﬁé—iu’{.lv
o) How tall will the plant be after three weeks? ! Number of balls in sixth carton = 40 +5=45
M PNV S WUty 32
| 23¢m (‘ m Number of balls in seventh carton= 45 + 5= 50
| (Stt;'ﬁf‘er how manu weeks will the plant be 27em "“”JL.J"‘E‘-(UC‘.-h{;'V
tall? -“.-lfﬂb’slf27 b{)’.’u;"kz Nyhex Ofﬁﬂ[?&n%liffgg? AR
& ) 1 Jmde 3
‘ Sol 1, 19 21, 23 25 27 Number of bal_ILs(in E.ifmh carton = 55+5=60
j week 2 week 3 week 4 week 5 week S IOIY (V15 V¢ N
sl Sl ol sl __';L?}L Number of balls in tenth carton = 60 + 5 =.65
so, plant will be 27cm tall afier 5 weeks 9 | Ut Sy
| _(Lt?ﬂgﬂfmwéu;v.s,){b)w (i) How many balls are there ?I((-)gethcr in .10
" 40, Ibrahim solves 5 questions of an exercise in the : carton. ndwdbud oo

Sol. Number of ball in 10 cartons
=20+25+30+35+40+45+50+55+60+65
AUt U310 = 425 balls &
(iii) The cost of all balls if the price of a ball is Rs. 18.
; -u_:fr)":—z Ju,,efra?m'.ma.ué JA:"-_('ﬁ

, subject of mathematics in 20 minutes 7 questions in

| 30 minutes, 9 questions in 40 minuts. When will be

| solve 13 questions and 15 questions if this patren is

‘ contixued. Also conest the time into hours and
minutes.

4““‘1.!IlClllll‘.'lll"..b”..l.'bl'l'lll.l‘lllll'l.D.lPl’lb)'i)illtl.ibl‘blbbll.'l.b'l

, d-‘uf"SOa:fU'f%tﬂur""m-:-«ﬂ'rSZ-vc(Jv"'LJLﬂw Sol. Price of one balls = Rs. 184
} 4 Z f - a3 ..:-{J).':(\.ﬂ
el 3ninZ e i LS LU 0 U9, : v
;;f dufm Price of 425 balls = 18x425
-LF"‘:U.:U:U JJ‘U)”C#’-(&/JJ&U'}’]S =def 425 = Rs.76504 s
Sol. : ANFER
| +2— 2\ ~+2 ~+2 W : Ry
- [Number of question |,- 5—;| 7 vl 9 VI” 1%3 l}' Sub-Domain (")- i i
oY ‘ Algebraic Expressions &2l

' | Time in minutes
| i) 20),, 30 420 0] e 70J
+10— “+10-7 L+10J L+|(j‘;

‘ He will solue 13 question’in =60 min = 1 hour

+10

" Skl Practice: : 3> iy

e Convert the following word statement into
algebraic expressions:-d*gj:u}’-d}.tf.:.tyifﬂi.pp
(i) The sum of three bags of rice and five bags of
wheat. Lo L plnZ Lo
Sol. 3x + 5y

e S f= 11309
He will solve 15 question in = 70 minutes
.LJU’.:«UV]S» = | hour 10 minutes,
11, A company used 10 cartons to pack balls. If the
company packed 20 balls in the first carton, 25 balls
in the second, 30 balls in the third carton and this © (i) Subtract five times of x fr}m 20 til;le of y.ﬂf
pattern is continued then find. £ SIS fetf 208y 3L
%e‘-&’ﬁ-édmé_nod.cu.gq»!}_‘iﬂ{ : Sol. 20y - 3x |
oL é‘j‘ﬁ:”'t{‘:r 25 Lﬂé—jd-/:ﬂl.if 20033 Separate the like terms from the follolwing:
LIRS ot i S e s
() The number of balls in fourth, fifth, sixth, 3 (I 3x’ 3% 05x, 10x*
Seventh, eighth, ninth and tenth cartoon. i & Sol. 5x% 10x* and 4l 3x, 5x
(i) 7x, 2x, 7x?

LSSl Lt f A P Tt g Ve,

‘Ill'll(l!i'.l!.1“1‘l‘l.‘ll(‘l‘ld!l"il‘.l‘l

444 qesadaedaddie

: Sol. 7x , 2x
1, Number of balls in first carton = 20 v (iii) 6X1, sx’ 2x2
. s, U:‘.-j.z, : Sol. 6x2, 2x?

|
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Think: :.«s,r

® Is this algebraic expression?

ax+by+cztd

".'-_‘U-UA'“.@:E(

it
i
) %x’ +8+ %x’Mx %x’, %x’

5. Separate the questions and In e

qualitieg

?
{
{

)
|

Irg
i lollowing, o SOILIE et £ B d"' thy
Sol. Yes u} (i) Ix+8>10 Sol. inequality =iy(. s o |
*  Also tell how many terms are there? 23D 2x—10 < 1 S I % '
UJU;( AT (i) 2x-10< Sol. inequality =yl 4
. SO RVIE S, Gl Ix-d=7x  sq1 equation =yl
Sol. Three terms u.:{wt’ - 5t ' : .
1 (V) 7x-5>=6x  Sol. inequality = /sl 4
* Separate the variables and constants, : 5x=7 i 5
RIF, e o Evz) 83 —5 Sol. equation = Iyl
b RIS L e P 2 (vi) 8x < Sol. inequality =1, 4
Sol.Variablcsg"x,y,z : = Sl ,/! ‘
Constant " =¢ 3 Solved Exercise 23&1}’
i ??JY?S ‘E‘x‘ercise 2.2 1. Which oil the following algebralc expressiong ,,,
0-0-.&-0.040&;4-0.--. § polvnom als? ‘UJULJJ/:f&d '
1. What number can replace [ in each of the i () ax*+bx+cy @ 2, X, ] A
following open sentences to make a true statement? Sk i+ B o 225 4 16
Secrn Ll S2 ) i g . 2 ax®+ bx + cy e T S
e L VW N 9 i Thisisa polynomial TR ANT:
| i a0, Thisisa polyromiy
® [J+10=12 SoL[7]+10=12 «di
() 15-[]=12 sal 15-3)=12 3 (i) SO\ (iv) 2x*+4x +3 X
: 2 X
@) 10+ J=5  sol 10+ [7=5 Sl XN Sol. 2x7 + 4x +3
(V) [ Jx4=28  SolL[7]x4=23 3 This is polynomia|
2. Separate open and close sentences. : This is not polynomial <,
. a & ‘ L
LS B =S, _
(i) 2x+7=5 Sol. Open ¥ i1 2y + 9y (vi) . 08
(i) z+4=10 Sol. Open ¥ . 2 ]
(iii) 104+10=20  Sol. Close £k Laiioa Sk s le
(V) 18+2=9 ol Close £ g . 3
(v) 10x+5=1¢0 Sol. Open 1§ : This is polynomial This is polynomial
(vi)y +z=16 Sol. Open ¥ e <324,
(vii)Sa+3b=10 Sol, Open ¥ (i) 2x'y +2 (viii) z2 + 2z + 12
Evi;i)_l 9 + g = 315 gol. glose & i Sol. =2x%y +2 Sol. z22+2z+ 12
ix) 7p +5q = ol. Open : This is polynomial This is polynomial
3. Complete the following. -q/d*;fum}_s.?w e A, . -ya REA
S;I. e — ; 2. Find the degree of polynomial given in quéstion 1.
r. ge raic umber |Variables|Constant : —U-J;?JJVUKE/S{J’U)JI/JV
No. | Expression |of Terms . d : () axi+bx+cy Gi) 2
HA | wdod | e | 3 §+%
(i) 4xy 1 X,y = § Sol. ax? + bx + cy Sol. 2 ,x |
(i) | 4x*-2y+38 3 X,y 8 5 The degree of this 3 Z+T§
(iii) 2xyz + 20 p X,Y,Z 20 : polynomial is 2 The degree of this
(iv) [ x%-2xy+16 3 X,y 16 : 42;”“"32’@' polynomial is 2
4. Separate like and unlike terms from the given : ey c‘_z.?un?uéfd'
expression. -q/;A.“ai"(iJ.quL;lJu ) 5 a1 (i) 2514 4x +3
Sol| Expressions |Like terms Unlike terms | : 1
& (L | A | Sixo-gs L Sol. 2x2 + dx +3
(i) |3x3+4xy + 7 + 9x2 |3x2, 9x? +4xy, + 7 ; The d?g’i.‘ee of The degree of this
(i) | 4x?y+5x+Tyx*+4x [No (73S 4y, 5%3, Ty dx | § polynomial is 3. polynomial is 2 {
(iif) | 2x2+ 8xy + 8y + 9x?|2x?, 9x? +8xy, + 8y -93.,’1)5’&/?0' ‘;.2.311"3&4/ v

\

——
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L) ‘;x’y +9x} i) —‘!'!

2
Sol.
L E-x
The degree of this

{ Sol ” %X’)’ 1 9x?

The degree of this

i polynomial is 3 polyngmial is |
| ‘;..3.;»»’31/% ' =2 K:?, e
o) 2y +2 (viid) z* + 2z + 12

Sol. 22 +2z+ 12

ol » 2%y +2
The degree of this

The degree of thid

} polynomial is4 polynomial is 2
| G—“q’/’rl}l/f{ﬂ 28 2 2e
" 3, Add the following expressions: ../ /UM }se

) 4x*—8x + 12, 6x* + 5x + 4
ol 4x*-8x+12
6x*+5x+ 4
OX TIOAT T
10x3-3x + 16
NOE 4xy +7,2x* + 6xy +2
- GoL Sx3Haxy +7 '
1 2x* + 6xy +2
7% + 10xy+9
(iii) AT+ 3Ix+4,3x° +4x +4
Gl x*+4x*+3x+4
Ix? +4x + 4
4x*+ 4x*+7x + 8
(iv) x*+2x+4,2x*+4x +11,3x*-8x + 10
Sl x*+2x+4
2x* +4x + 11
Ix2+6x+ 15
Ix2-8x+ 10
6x?-2x + 25
(v) ¥ +2x - x+2,4x’ +20x +4,x* + 4x + 11
Sol x*+2x*— x+2
4x° +20x + 4
Sx*+2x2+ 19x + 6
x2+4x +11
5x*+ 3x2+ 23x+ 17
4. Subtract the first polynomial from the second

polynomial. LSS e Gl S

(i) Sx*+2x-1,10x*+8x+7
SolL 10x*+8x+7
£ 5x*+2xF 1
5x3 + 6x + 8
(i) y*-2q*+ 3r, 8y* + 6q* + Tr
Sol 8y*+6q*+7r
t y'F 29°+ 3r
Ty +8q* + 4r
(i) 2x° + 12x2 + dx + 12, Tx* +12x + 24
Sol. 7x*+ 12x +24
E0d 4 4x + 12+ 12x3
Sx*+ 8x+ 12-12x?
(iv) 3x*+4x +2, 8x* + 12x*+9x + 10
SoL 8x+12x2+9x + 10
+ 3x? +4x+ 2
8x’+ 9x*+5x+ 8

IGQQI'11‘11!‘Ql11111(11II11IQli(.ll“l'lll‘ll.‘l"f'!lllIiIIIClll(l"l“lll‘1".l“l“.t‘(‘ld‘il!.lllll(l‘.‘l..i.ID!F.‘lll.DDIID))bbb)il..llll'lDl.lbliIl..ilbi‘.lIIh.D.IbI!l‘b.)hDD

P (v) X+ 2xy 4 3xyt 4y, 4%’ 4 3xly + 63y’ + Ay’

Sol  4x* + 3x%y + 6xy* + 4y’
+ x4 2x3y 4+ Ixy 4 y?

3x' + X'y + 3xy? +3y’

Sol.

L Y NN T )

(vi) 2x + 3y -4z -1, dx + 3z + 4y + 12
4x +3z+4y + 12

+ 2xF4z+3yF |
2x+ 72+ y+ 13

: 5. The sum of two polynomials is 6x® + 4x? +8x'+ 12.

If one polynomial Is x* + 2x2 + 3x + 2, then find the
other polynomial.

L?J/:f-g/"c.ﬁx‘ +4x* + 8x + 12;rft’uﬂ/£fu
-t/,/(:"’(.?l/:fd/u?}fx"# 2+ 3x+2

Sol 6x*+4x* +8x+12
kb Xk 2x2 £3x4k 2

5x342x2 +5x + 10

Sol

" Challenge: é‘

6. Sublract 2x2 — 4x+4 from the sum of 42 + 2x + 7
and x2 + 6x + 2
ST P st x6x+2ulax 247/ 2xi—dxtd
4x2+2x +7
x2+6x+ 2
5x2+8x+ 9
+2x2F4x+4
3x2+12x +5

¢ Complete the table. -qfﬂdw
Sol. : e
X x* —2xy? y
-2x 2x? axqy? |, 2xyh
3x%y Ixty —6x%* | 3%y,
¢ Find the mistake in the table. Vst paelify 0
-yl Ww Ly
+ 3% 6x3y% |0 12x3
3x4 X 2y? sy o8
4xy 3%t 6x2y5 12x4
Sol.
% x 6x’yS 12x
3x4 X 2y° 4x
X
dxy 3x’ x5 | g B,
ity 2 y
" Try Yourself: : §i75 |
o Completeﬁflhe table. 4[/'.}50’#
Sol.
* 4x%y 8x3y? 16x°%y?
2x 2xy 4xiy8 8x3y?
4xy x? 2xdy’ dxiy

——

| —
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Solvod Excrum 2 4 J/u

- " ‘q
i (xvll) 22m* 4 40m* + 32)(4m + 3/ m?)
i Sol. (fm+3fm?)(2fm*+4/'m?+37)

1. Skm the Iouowlm polynomlals i “Im20m* AL 4 30 3 mA( 20 mi s 4 iy,
[ ' LIS b 2'“fﬂ"4”m'+3f:‘m+6ﬂm‘+lzi'muw'm:
() (4x) (Bx'y) (1 (lh')(h’ y®) i (xvlu)(5x’y +6xy‘-2!’y)(21’y)(2x’ IS
Sal. = (4x) (8x%y) Sol. (12x")(2xy%) ; i i y o)
* (A= B)(x*x'y) "('2’2)(x"x ¥) Sol. 5x +6xy - 2xtyt - ny"
“ 32x'y " 24xbys ; : x 2% yl 2xy
(i) (7x°)(2x5y") (v) (2x‘y’)(4x‘y7) i
Sol = (Tx*)(2x5y8) Sok n‘(zquz)(,‘x;y',)’ 1ox*y* - 12%y* — axy?
o ¥ 3, :
- = 8x7 1 $ bV % 1
(y) (2l'm')(7t’m‘) i) (2‘,_315)'2) (3x'y ) : 10x* y +l6x ~ 4% y l()x3 5 12’_‘272
Sol. = QOmATOM)  Sol = (20 + 5y3) (s # I (Bab?=5a'b - ""’) hr = ')
o G Ay Y B, . £501, 20l - b - ath
s 30PN IR (Syy
= 1405m# '6x5y’4lsx’}ﬁ %4 ab? - 3a’b
i e BX‘V')(lxy)' O Ged + Seayseay e
* xy(S:(y +8x2y?) ="-5c’d‘(3éd’}+5c’d’(5c’d) P 222 -5a%b’ —a°b’ - 6a%b? - 15257 4 37y
10x7y’+16xy4 = |5c5ds 4 25¢sd4  :
(ix) [ ][ ] () 16, 2)[9,5 ¢] 2 Divide the polynomials. LSy
: 3 (m z! m’ ([) §x4 'hy 5x’y (ii) 10x%5 by 2xSy
3 4 Sl Tie 9 : 8oL = 5xty? by 55y Sol. = 10x%° by 2xSy
[4m n][3mn ] , =[?l’mz][zf:m’] _ By ey
Vg " Y P R
[i—x%}[n{n xmn’]» n ¥ .. s = [xt-3y2-! » 5,('9-5 ys).ll
=m’n’ ,3', ‘l' ¥y . M = 5xy!
: v[l;m’ 'd’m’] oot (i) 1565m? by 3¢'m? (iv) 2a’b* + 5a%b’ by 2ap
, : i 8ol =15/5m’by3¢m?  Sol. = 2a%*+5x*b’ by 2ab
(xi) (7 Fy . . l2[‘m7 ) i 5)4(5 9 2 Zbl 5 o3
a’ + 8b*)(2a’h - 5ab?) X PO LN - PR
Sol. (7a-+8b%)(2atb — Sab?) R SR'TE i
= 7a%(2a’b-5ab?)+8b%(2a%b-S5ab?) P sysame2 _ 22 sy
= 14a%b-35a’b*+ 1 6a?b’-40ab* P =50 S a2
(xi)(2£m?* - 5/m*)(5¢*m - 24m) = a2 p2147 Sa#1 p>I

Sol. (2/°m2-5/m*)(5'm~2£m)

=ab + 2.5a%?
leg”Tl(fj';—zf';S)l:ﬂ:‘_‘: fgl;m:ﬂm) (") g:‘l’ q3+45p8q°by (vi) BxSyS+6x'x6 by 2ny
- m m m £<m ¢ : q
g::i)(;z: 25 Sy;-wsw;;)g:)'y’) "i* s g“"""*“ 5p*q°by Sol. = 8x3yS+6xxé by 2¢'y
), i -0X 4
= 2x’y¥(2x’)'2x’ ASy?)-2x2y}(8x’y?) : pfop ' +45p'” _ Sy ey "f"’f
- 4X‘ le‘y‘ 16)(5}'4 é = —_:;2—‘“ 2X y
(xiv) (x’y = 2xy? - 3xy)(5x’y) Fa e B By ey
Sol. (x2y-2xy*~3xy)5x%y) + o 30[1 q‘ L)X * sz)y 70y
= 5x° y(x’y)-Sx’y(ny’) -5x’y(3xy) : 3p'q"  3pq p 4x5‘3y5"+3x3 3yb
= 5x5y? — 10x4y’~15x%y? : =10pl-2q5-4 4 = 4y + 3x0yS
(xv)(3£’m + 5£m’® ~ 2{m)(2£°m’) 15p8-2q9-4 = 4xiyh 4 35
SO'- (3[1m+5£m,"2[m)(2£,m2) § = lopq 4 15P6q5
féi’sm”(fll(?;);szzrg(r:{m’) ~20m¥(2¢m) * s (vi)25x5yS+15x%y6bySxtys
=or'm «% 3 Sol. = 25x5v5+15x9
(xvl) (atb? — dab + dabR)abt atb) ¢ FOOT 2V HINCY bysys
Sol. (2a’b*-3a’b+4ab?)(ab’~a’b) R v ¥ Lyy 2sx’y° 15x°y*
= (ab? - a*b)(2a’b’~ ~3a*b+4ab?) i % 5x'y’ sx’y’ Sxy’
= 2a'b% ~ 3a°b? + da’b* - 22D’ + Ja'b? ~ Qa’b’ = 5x5-2 y9-5 4 3x9-2y65
= 20b* - Ta’b* + dafb? — 2a'b’ + 3a'b? = 5x’yA+3xTy
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\!—"—-—";ﬁ_ i i e e —
" 5 a’b*+7ap? SS—
("i")_zzll;sgsﬂ‘;adbaﬂ;t)l: bby77:;t:1 : (viii)8m - {2n+6—-(4dm - 2n - 4‘)+2m'-(21211’-2)}
o s sl e Sol.8m — (2n + 6 - (4m — Zn — 4) + 2m? ~ (2m’ - 2)}
Jlabre b +7ah =8m - {2n+ 6 — (4m - 2n +4) + 2m* — (2m* - 2)}
. " b‘ . =8m- {2n+ 6 - 4m + 2n— 4 + 2m* - 2m’ + 2n}
2120’ 42y’ 4+ 1alb? =8m-2n-6+4m-2n+4-2m?+2m’~2n
"7l Tab? T 7ply =~ 2" + 2" +8m+4m-2n-20-20-6+4
=3252 b2 + 2a%2b32 4142-2 (22 =12m-6n-2
(ix) ab + [2x - {2(x — y +22) - 2}]

=3a°b® +2a’b + |
: 3 Sol.=ab + [2x - {2(x -y +22) - 2}]
Solved Exercise 2.5 7 f =ab+ [2x— {2x -2y + 4z - 2}]
,000000000400004004..“‘,, = + i L
1, Simplify each of the following: i i + g;‘/ 2’;;2,{ 2;2 :Z2+}]2
. . = =
U e L Siae =ab+2y—4z+2
(x) 3x-{-3x +5- {(3x — 4y — 3x — 2x)} —2x]
Sol. 3x - {-3x + 5 - {(3x —4y - 3x — 2x)} - 2X]
=3x - {-3x + 5 — {(3x —4y — 3x +2x)} - 2x]
=3x—[-3x+ 5 - {3x - 4y — 3x + 2x} — 2x]
=3x_[_3x+5-3x+4y+3x—2x—2x]
=3x+3x+3x+2x +2x-3x -4y -5
=10x-4y-5

Solved Exercise 2.6 J? J’

1. Simplify the following by using -

) WE-Y) 3y +y)

Sol. = 2x}(x = ¥) =3y(x +y)
=2x? - 2x%y — 3xy - 3y?

(“) 4x*+10(x + 2)- S(x-2)

Sol.= 4x* + 10(x +2) - 5(x - 2)
=4x*+10x+20-5x + 10
=4 +5x + 30

LR e s T I NNy

(iif) %x’ + %(x—2)(x+2)n’

2
Sol. %x?»-l-—j(x—Z)(x+2)n’

204 2o gy (a+b)? = a2 + 2ab + b2, _
> ; 8 LA tnl S)e (a+b)=a?+2ab + b
= i+ Sunt— 3w @) @x+yy (ii) (2x + 5y

(iv) 6x* = 3(x +4) +4(x* +2) Sol = (2x+y)? Sol = (2x + Sy)

Sol.= 6x2 —3(x +4) +4(x* +2) = (2x)H(y)+2(2xxy) (2x)y+HSy)+2(2x)(5y)
=6x*-3x—12+4x*+8 = 4x2ry*+4xy = 4x2+25y*+20xy
=10x*-3x—4 : (i

(1) (4m +3) (m* - dm + 4)— 2m = 3) @m* +3m - 4) £ Lo [1+1]

Sol. (4m + 3) (m?— 4m + 4) — (2m - 3) 2m* +3m—4) 2 2

=4m(m? — 4m +4) + 3(m? -4m +4) - [2m(2m* +
3m—4) -3(2m? + 2m — 4)]
=4m?— 16m?*+ 16m +3m?-12m + 12 - [4m* +
6m?- 8m —6m*—9n + 12]
= 4 —16m? +16m+3mi-12m + M — 4efl” —
pifi +8m+ 6fi” +9m - )24
=13m?+2Im

(vi) 4x - [By — {4x = 2(2x - 3y)}]

Sol. = 4x —[8y — {4x —2(2x - 3y)}]

Sol. i

NG R

== ‘ Jo#

N | ¢
<

|
—

g™

(vii)8x + [6y — 2 {2y — 4(z-3x-2y)}]

Sol. 8x + [6y — 2 {2y — 4(z-3x-2y)}]
=8x +[6y -2 {2y - 4(z-3x + 2y)}]
=8x +[6y -2 {2y —4z + 12x — 8y}]
=8x+ [6y -2 {4z + 12x— 6y}]
=8x + [6y + 8z — 24x + 12y]

=4x—[8y —{ 4€ — 4K +6y}] a2 .l_:l2
=4x - [8y - 6y] Sol.= | W™ % g
=4x -2y 1

m

PR

<
= m2 n2 mn
(v) (5{+2m)

= Sol. (5¢+ 2m)?
=8x +[8z—24x + 18y] %

R R R R R R R R R R R R R R I Ny Y N Y TNy NNy NI Y IR}

=8z 16x + 18y

|
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(v [
it

o[ieod]
]
3 )***( o) +2(55)( )

ab
i 1 2
,,,9“ f4b 3

(vii) (4x+2yp

- Sol. (4x'+2y)

= (4x)™+ 2(4x) (2y) + (2y)*
= 16x" + 16xy + 4y?

(viil) (7x + y)?

Sol= ()" +2(7%) (y) + (y)
=49x* + 14xy + y?

2. Simplyity the Iollowing by using (a-b)?=az -2ab +h? } :
- ;"‘Lfdw(a_b): = a*-2ab + b'/JL?u/
(if) (Sm?-n)?
Sol = (5m?- n)?
=(Sm2)H(n)?-2(Sm’)(n) }
=25m*+n?-10m’n 3

(i) Bx-4)

Sol (3x - 4)?
= (3x)? + (4)>-2(3x)(4)
=9x2+16 - 24x

w (23]
s [3-2] 2}
(-2

4

dg AT

i) (ax2 -zy)z

——

Sol (4x —2y) ‘

- (4x2) +(2y)* =2(4x7) (2y)
o 16x* +4y? ~16x%y

v) (3x-2y)
Sol. = (31(*2)')2
"= @x)P (2y)2-203%) (2)
= 9x2+ 4y2-12xy

L e N :
T2 m? m
_I__L]’

(vi) 2a 3b

= 4% 9b2 3ab
’(vm)(4p 2q)?
i Sol, (4p - 2q)?
: —-(4p2+(2q)2 2(4p) (29)
= 16p +4q% - 16pq

: 3. SImplyIly the following by using a>~b?=(a-b) (5 2 41)
-J//(L/JW'A -b? = (a~b(a+h) J;{w

) (x-2y)(x+2y) | () (= n) (mt 4wy
i Sol. (x - 2y) (x +2y) Sol. (m? ~ n?) (m? + ny)
= (x) - (2y)* = (m?)! - (n?)?

= x2 — 4y? =mt-nt

: NL _1_.._1.)
(lii) 2p 2q 2p 2

¢ Lol b
§S°"=(2p+2q)(29 2q)
| (vi) (5x - 2y) (5x +2y)

&4
7 3
P P Sol. = (Sx-2y) (Sx +2y)

= 4p* 4’ = (5x) - (2yy
(LJ,L) =25x -4y

(iv) (a* - b%) (a* + b
Sol. = (a* - b*) (a* + 1)
= (a*) - (b'y

=8 _pb

& ;___l_

252'  25b*
: 4. Simplify the following agebraic expression by
: using algebric identities.

: LIS Jen F s Am s At
) (x=3)7+(2x+ 1)
: Sol.= (x~3)'+(2x + 1y
s =x2+9-6x+4x3+ | +4x
=5x1-2x+ 10

CRCERRRLEREERRERR L ERR L L aqee QeaeeCeeaqetaendes

qq4e

E () @x+ 1y - (3x -2
: Sol.= (2x + 11~ (3% - 2)?

=4x2+ 1 +4x-9x* -4 + 12x
=-5x*+ 16x -3
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N
(i) (3 A8~ Bx+ 1y
Goh = (X = 5 (@X + 5) - (3x + |2
T (X (5) = (OXT R 1+ 6x)

e

= (2 - 5'*Q<1“ s 1 i A 4
- 4:‘: :22(, - :i\' e $ i) :?":CC 6y is common factor f.Jh.f/‘ﬁy 7
; E(Iv) Txt = 14xty + 21 xy*
) (1x=2)+(Ox =1y i o
(qi:ﬂ) L (‘7x* 2P+ (9x - 1) Sol. 7"4" l4x?y + 2|,X)”
T a0 +4- 28X + 81X+ 1 - I8y { TAXI-2uy +3p) W ronp
- 130x + 5 — 46x 3 Slmlc:l Xy is common factor S Iy,
: - 1
) (8- 5b) @+ Sb) = 9 - 3 f o SAR N O
Sol. = (a - 5b) (a + 5b) — (9a - 3)? 3 . _ Y Xyz* + xyz )
- a?—25b' - 81a? = 9 + 54a i Sxyxyz-ztl) .y
-~ _80a*-25b*+ 542 -9 ¢ Since xyz is common factor e P xyr 5,
(vl) (22 - 5b)* = (a = 3b)’ 2 (vi) 5x5+ 10x* + 15x° 7 G,
Sol. = (2a - Sb)* — (a - 3b)? : Sel.= gi:(;lf); :135)# AR -%%
- 4g7 + 25b* — 20ab — (a? + 9b? — V%o X "
- 4:z +25b* = 20ab — S:- 9;: & 62?) Since 5x* is common factor 4.;&./ ;}Sx’fg
= 3a2+ 16b* — 14ab (V“)ga'b:c!- la‘b:c,v“ abe o "
5. Find the missing term in each of following: § 0o.® :;:(’sca r 2 ‘; :bj :‘:‘;
’ PR T 3 : - el = 108
ol "z/r'bﬁ'jfd”{ ks i Since abc is common factor 5.:&f % abe 3,
. : i 34 1l 4 Sx) '
(if) (a-2b)°= a’~4ab + 4b’ AR 3 L .
: g i =5xyl(xy -3+xy) K5 AN
(iif) (a +1 b) =a’+ab+ %— 3 Since 5x%y? is common factor ‘.:_:h.f > Sxty?. S,
! P 2 (ix) 4x° - 8x'y* + 12x%y |
X y 2 _ Lz_--x_y- y2 ; SOI. 4x1 - sxzy] + 12?{’}’ .
™|373) 73 2 7 ! 4x3(x - 2y +3y) . : Py
= ince 4x? i t bt axif
6. Evaluate the following using sultable identity. : ®) 25;"‘;:‘4_"5‘;’ :I?TT?’I:n f.ac or SR
LI gL IV I 41 2t — 50m3 = 205
M @7 P emiQ0em?-5m-2)
Sol(37)*= (30 + 7)° 3 Since £*x? is common factor eSO 5,
= (30): + (7)1 ;X 2(30)(7) § (xl) xxys_ x‘y64+ xxy: ‘
=900 + 49 + 420 = 1369 ¥ Sl X2y = x4y0 + x3y?
(i) (63)* ’ ; Xy (y*-xty*+1)
Sal(63)’= (60 + 3) g Since x?y? is common factor q..:h.f Py E
= (60)* +2(60)(3) + (3) I (xii)9pq* - 18pq +27p'q? X
~=3600+360 +9 = 3969 } Sal. 970" 18pq + 27piq’
(lii) 34x26 : 9pq(pq-2+3p'q*)
kbl g (gg):f)(gf) ) :  Since 9pq is common factor <t 7 9pq.5;
ke goo b : 2. Factorize the following. A AN
b, () ¥+5x-2x-10 (i) 2ab-6be~a+3c

Solved Exercise 2.7 S

_q/dftﬂ.’wﬁ' (i) a(x~y) - b(x-y)

1. Factorize the following.

£ () 6x'y ~ 24yx
i Sol. 6xy - 24yz
P Gy (x'-47)

P Sol.=x*+5x-2x-10 |,
: = x(x+5)-2(x+5)
=(x-2)(x+95)

w—mw P PR -

Sol. = 2ab - 6bc —a + 3¢
= 2b(a=3c)-1(a-3c¢)
= (2b-1)a-3¢)

(iv) y'—ay -by +ab v

Since 2y is common factor

("_.JEJ}’?yf.@

g‘)" gxy- ll:yz i Sol.=a(x~-y)-b(x-y)  Sol.=y-ayrby+ab
’Z’y(y(;x-!/zz) i =@-bx-y) = y(y~2) - by —a)
? =(y-a)(y - b)

(i) 30x4 - 45x%y
Sol. 30x! ~ 45x2y
15x% (23 - 3y)
_iince 15x? is common factor

(v) ab(x +T) +ed(x+7) (vi) a’pq-a'rs+b'pq-bies
Sol. = ab(x + 7) + cd(x + 7) Sol. = a’pq-a*rs tb’pg-birs
=(ab+ecd)(x+7) = pq(attbi)-rs(a*tb?) -
= (pq-rsiattb)

4dddade

e SF 155005
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| Sub-Domain (m)

(vii)3x® + 6x* = 3xy* - 6x  (viii)5x + 2xy — 2x* - 5y

Sol. = 3x*+6x* - 3xy? — 6y* Sol. = 5x + 2xy - 2x? - 5y
= 3x(x-2)-3y¥(x-2) = 5x — Sy - 2x* + 2xy
= (3x-3y*)x-2) =5(x-y)-2x(x -~ y)

 Linear Equations (- up&’
_______________\J

= 3(x-yXx-2) =(5-2%)(x~y) ; W T
(ix) 4x +6y-2-12xy  (x) 3xy+3-3x-3y Try Yourself: :JL/ 127

PARARABBARAREND

Sol.=4x + 12xy =2 +6xy Sol.=3xy - 3x +3-3y o Verify that x =~ 3 is the solution of

=4x(1-3y)-201-3y)  =3xy-3y-3x+3 i  sx_1=2(x-5)
=(4x-2)(1-3y) =3y(x-1)-3(x-1) : e fE5x — 1 = 2x - 5)=hlox = =30/
=212x - 1) (1-3y) =(3y—3)()\f—l) §SOI SX—T J'__z(x 5)( o ‘ dﬁ
- 1) 5(-3)-1 =2(-3-5)
(xi) 3a* + 9bc - 9ac —3ab (xi)2x* — dxy +2xi 4y "
Sol. = 3a* + 9bc - 9ac - 3abSol. =2x* ~ 4x?y + 2x2 —dy “M=1 =
=3a(a-b)-9c(a-b)  =2[x'-2xy+x-2y] : -16 =-16
=(32-9c)(a-b) = 2[ X (x%-2y)+1(x*-2y)] ?
=(3(2-3c)) (a-b) =2[¢+ 1) (*-2y)] i
=3(a—3c)a-b) =2(x*+1)(*-2y) % _
4 5 i e  What is that number one third of which added ¢o
Solved Exercise 2.8 7 E Sgives8?
g et T t'nJ’bSc.z_/b’S(ﬁle(J L e iy,
1. Factorize the following by gsing _mjddle term 2 Sol. Let the requ"ed Mniber =X s 2
breaking. -qfdyf/‘/e;ﬂdyﬂl/‘)_hyﬂ 2 x

(i) x*-10x+24 (i) x*+3x - 40 3+5=8

Sol.=x* - 10x +24 Sol. = x?+ 3x - 40 X

C =X -6x-4x+24 =x1+8x-5x-40 3 3 A=
=% (x — 6) 4(x—6) =x(x+8)-5(x+8) 1 X
= (x - 4) (x6) = (x=5)(x + 8) : B

(iii) 4x* + 8x + 3 (iv) x*+7x+10 x =3x3

Sol.=4x?+8x +3 Sol. =x*+7x+ 10 Xx=9
=4x?+6x +2x +3 =x?+5x+2x+10 3 — <7
=(2x + 3)HI@x+3)  =x(x+5)+2x+5) Solved Exercise 2.9
=(2x+ 1) (2x +3) =(x+2)(x+5) S yryyywy

(v) x*+2x-8 (vi) y*+3y-10 : 1. Solve the following linear equations:

Sol.=x*+2x -8 Sol. =y*+3y-10 g S Mg B
=x*+4x-2x-8 =Y H5y-2y-10 i ay_1=g 2.47:{;60:;1 -
=’(‘(x 2‘;}_3(:)”) i{}(,y ‘;)5 2;3(53’)”) { Sol. 3x—1=38 Sol. 7x = 60 + 2x
=(x-2)(x d : i i _

(vii)25x* + 5x -2 (vili) x*6 +x13 -5 P T =8+ ;:_?5 s hioec

Sol. =25x* + 5x -2 Sol. =x36+x13-5 Ix=9
=25x2+ 10x —5x 2 =6x*+ 13x -5 x o gx _ 50"
= 5x(5x + 2) =1(5x+2) =6x*+ 15x-2x-5 3 7='Z—, 0 adr il
=(5x - 1) (5x +2) = 3x(2x+5) ~1(2x+5)  } oa x=12

=Ox-D0xH)  E, e = 20x- 64
(ix) 2x*+x?-3 (x) 201-3(-15 i e b Sxnit eIy
Sol.=2x* +x*-3 Sol, =2/ -3¢-15 ; OO0k 5x+4=2x+17 Sol. 54 20x+11= 20 x- A
=24+ 31— 2% -3 =20-50+2-5 % Sx2x+d=2f - 24 +17  x-64
s 2 = A i pd
:2‘;9_"?;;’&‘(52:;)3) =f§2f 15))(; E‘fzse) R N ~15x + 11 =64
= (x+1)(x-1)(2x* + 3) PO+ A-A=1T-4  —I5x+ - =641

(xi) 10m* - 13m -3 (xii) 14m*=3Tm +5 P 3=13 sy =15

Sol.= 10m*~13m-3  SolL =14m*~37m+5 : T
= 10m*-15m +2m -3 =14m>-35m-2m+5 3] _X___Zg_,

g = 5m2m-3)+12m-3)  =Tm2m-5)-12m-5) } 13 5 7
k =(5m + 1) (2m - 3) =(im~1){Im~5} ¥ .: X5 x=5
.
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i
- éu . R -J)?J"‘m.gﬁ
Sol. 2(x —3) = 2(4x - 12) 3 S&l¢l§he number wk(u'/’ b x
2x-6 =8x-24 At B T ex-5=7"
2x-2x-6 = 8x - 24 - 2x L A RN Y 2
-6 =6x-24 W 4 6x =12
6+24 =6x-24+24 12
18 =6x : g3
18 6x . : =3
s " = x=3 é § ' PR
10, 6- 3 (x +5)= 4 g oA
:e [amanumber. ~UmsLi L
Sol.6— 2 (x +5) =4 ‘ ; e,
3 ) = 4x i . Tell my identity. Ll e
i sz = L?,Q o i Takeme seven times over Jledd
i . And add a fifty! £’
66‘%*5'--]2)(,3" =4xx3 $ o :-kJ.'/C/:"*OJ’:
2 , 2 ¢ + Toreach a triple century é.&;-"_ﬁ_)zﬂut
= Y5 o 10 & :
; 10 = 12x : You still need forty. a.-u/"JMb( i
—2x+8 = [2x &¢ i Sol. Let the numbe 7 ‘ =
b i d o 1h & % e - number s/} Bt
r X +2x P - TX+40+ 50 =300
| 8 = 14x : X +90 =300 - 90
[ : la M x : 74 =210
b ¥ LT | g!_q”
i M'r )4! 4 § ¥ \.,‘“- ‘ ]Zix'ﬂ-
vod $ W
.

s, 32x-5=121
,‘3(2\(-—5)=21
6X - 15=21
6x - J5 + 15 =21+15
6x = 36

6.

" =3(x+8)=2(x+3)+10x 8.

. —3(x+8) = 2(x+3)+10x Sol.
_3x24=2x+ 6+ 10x
3x-24=12x+6
~ 3K+ 3K -24
=]12x+ 3x+6
24=15x+6
24-6=15x+ f - B
-30=15x

0 _Bx
7 Y
-2=X
k=-2
9. 2(x-3) =2(4x-12)

J(x+2) = 5-2(x-3)

Sal. 3(x42) = 5 - 2x - 3),

X+6=5-2x-3) '
IX+6=5-2x+6
IXA2X46=5- 7 x+ 7 x16
Sx+6=5+¢

5x*% =1}

5x+ g - g =11-6 .
5x=§

Bx _

Fin
Xx=1

3(2x-8) = 2x -2(x+3)

3(2x-8) = 2x —2(x+3)

6x-24= 2f - 2 —6

6x—24x = -6

6x— 24 + 24 =6+24

6x=18

fx_ A
£ B

XxX=3

BEbabE

MQnnunnnnnbn-ﬁnnrn-u»n-unnnnn-u

N e

2,..1.7,1
L L Sak B e
2palidg l
Sol. $X =3 6+2x
2 |
THx A —-—xﬂ’ —x6+~xx6
A , 2
£ 4x-3 1=.7+3x=’
Yl Ax=3x-3 =7+ -
x=-3 =7 F
x— A+ Ax =7+3
x =10
3 & gad
12. 4x+3—x-—4 :

( T

xtﬁ,s\z‘)( x+3x434xx—7xﬂ
Sx+12 =4x-1
S5x—4x+12 = 48 — a4 -1
Xx+12 =-1
RN _=_
= '?;vﬁ&u

5 from the product, you get 7.

. 1 e "’1!-- X "-l' .
seol. = “’3‘*'2' AR rx# »

ply a ium\ber by 6 and subtract

134/3 s;.,/J‘w,lwz,__,./c.ef o <N

st e N "~ Sy e (54

PR pr—T
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Activity: ¢/

¢  The teacher tells the class that the highest marks
obtained in her class is twice the lowest marks
plus 7. The highest score is 87. What is the lowest

score?

U,H[g_.w/:}uyc.qgﬂ&’&fg&&ﬁf:—’hdd“-ﬁ

Al G/H;- -,—ﬂ?u:187ﬁuyc. .,—-//rl-(‘.'- w7 VL

Sol. Let the lowest marks

e
The twice of marks kU A =2x

=X

According to given condition =2x+7=87
L nd
=2x=87-7=2x=80
-80
2
X =40

50 the lowest mark Zf= - = 40 marks oo

i

- |- skl Practice: : 3% 1

¢ Majeed is six year older than Kiran. If sum of

- their ages is 76 year. Find their ages

"'UJ/JM}!IIJVM A Vu:/fJuiuﬁq_!zdbﬁc.w/qL

g

Sol— " Let the age of Kim = x year i

AU

-

Majid's age = x + 6 years JL

According to given condition
x+x+6 =76

JUVLL/"G’J)

2x+6 =76
24 =76-6
27 =70
X = ? = x=35

So, Kirn's age = 35 years JL

ASu/A

Majid's age =35+ 6 =41 years JI

Aowl

Solved Exercise 2.10 FLf

1. When two is added to six more than a certain

number. The result is 20. What is the number?
bnikne t 1201272 LW 2 L 416 Lu.f.,::

Sdl. Let the required number = x

11“‘Illl‘l.ll!‘l‘(‘dll“"‘li‘Clddllllld{‘!'il“’!‘l‘!1"!11““.!.Illl‘l"1‘ll‘l‘l"l‘l“l‘l‘l‘!“l‘d‘l“l..IDDIbIIlb"l)iPPIl.."l’)"..”"""’..lll."’PP’.'."lllIIDDII.l00Dl.'lll'lll’l.llblbllb‘illl.ilbl.llll.

2.

If four s subtracted from two times a certain
the result is 10. What Is the number?

q fng)ﬁu-f_t‘ Tlﬂy'ﬁ;’&-'fg‘z/‘f’k‘:‘ hf”ﬁmu"f,

Sol. Let the required number = x

P
Two times of the number = 2x
V260
According to the given condition
2x-4 =10
2x =10+4
2x =14
x = 14
2
x=17
so the required number =7
g

- ——
Nmbg,

Ao L2,

Seventy more than 8 times a number Is the same ag
two less than ten times the number. What [g |,

number?

w3 YL I e FEINLITOLY 8L 1 g

Sol. Let the required number = x

st M
8 times of the number = 8x
nl'fS(us

10 times of the number = 10x
10654

According to the given condition

Sol.

8x+70 =10x-2
8x—-10x+70=-2
8x-10x =—2-170

-2x =-72
2x =72
X _712
2 .2
x =36
so the required number = 36
w.,#’tﬂ

- f)f v;p

AL A5

The sum of three consecutive integers is 123. What

are the integers? °

-u_‘/p%wu-q_ 123544 wé}"‘ &

Let the first number = x

swlke S P

124
second number 2kl =X+ |

ayj pui; we Jﬂ..,}u"‘lfgf./.' third number .uﬁﬁ,: =x+2 y
71 8ix ore’of the number = x + 6 According to the given condition el )8
According to given condition Tl b 3x+3 =123
X + 8 ~ 20 3x = 120
x=20-8 é RO’JO
x =12 & 7

1
|
|
|
|

{
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MR  MEG . w

i

BT L am —c=hnat

X =40
s0, first number »#tke 5 =40
second number 1#l5 =40 + | = 4]
third number s0l,2 =40+ 2 =43
5. The sum of the ages of Abdul Hadl and Abdullah is

Skill Practice: : 3t

®  Write the following equations in standard form
-U-'d btkp dl_l:'”I(J;‘JVJ_JbJJ

!

32. In two years Abdul Hadi will be three times as (a) x-y =§+3
old as Abdultah. How old are they now?
lﬁ"‘r’/&“k’%’dd)b%ﬂ»f b’u;/&hu,&,ld;w;/ § Sol. 2(x) — 2(y) = 2(%) +2(3)
L QAU 3 E 5 o
Sol. Let the age of Abdul Hadi = x years Ji- 8 “Ghos e
/JUJUM’L'(J) ; X — 2)’ = 6)’
Age of Abdullah =32 - x years Ji : 2
: x+1_y-1I
A il ke o
Abdul Hadi's age after 2 years = x +2 i Sol.
/Jd:kv"&’».’dld ¢ If numerator and denominator of a fraction are
Abdullah's age after two years =32 —x +2 :
Al L2 £ increased by 5, the fraction becomes 15
=34 -x ; ;
| According to the given condition JWLL;JMUJ i construct the linear equation of the above
E . X +2 =3(34-x) f statement.

X + 3;( I :22 : :gg 2% g ‘?—Jl,'ut %/(”;Ll!d)u/‘c_s.f@/(ﬂh»'cpﬁ/gffﬁ
4x =102-2 L e blGusL QoL e ipding
4x =100 : _ % :

Ax 100 : Sol. Let the fraction m AU
h A P oses_ 1
X =25 y+5 10
so Abdul Hadi's age = 25 years Ji- E : , x
| ASuua N Solved Exercise 2.11 7 U°
3 ” h, dil/ r._=32_25 z KN 06900000000 000000000000000000s
Abdullahis aae, ] s =7 years Jb : 1. Convert the following equations into standard form.
g -u.‘.'g 9 ‘P dJ‘l_,v_fu;bVJ_' Sour

6. Sakeena's father is 4 times as:old as Sakeena. After

5
Sakeena's age,ﬂf;f =10 years Ju Sol.y-1= S(x +2)

Father's age /J..'.,(.. =4(10)
=40 years Ju

5 years, father will be three 'times as old as : (i) y=-x-3
Sakeena. Find their present-ages. . .- : Sol.y=-x-3
ﬂl’f.‘iVJ)F/Jv§ﬂJVSL¢§ﬁ4VJ“C/Jﬁ’§L*F ? R FR Transport x to L.H.S
| - g porrSud-dit | bl e VS x
Sol. Let Sakeena's age = x years Ju % S PSR A
¥ ; Which is standard form Y < 17 P
ST : (i) y-3x-2=0 . P e
Father's agc/u(..'.& = 4x years Ju ? Sol.y-3x-2=2
Sakeena's age after 5 years =x +5 . ' Transpore 2 to RH.S
AEwldes Tt il AL 2
Father's age after 5 years =4x + 5 3 “3x+y=2
A hedes Pl ey =-2 ’
According to the given condition J,‘UVLL/“S’ g3 Multiply by —1 on both sides
3(x+5) =4x+5 e fa—11R S
3x+15 =4x+5 I This is standard form e Fler
3x-4x=5-15 5
_x =—10 fGi)y-1=3(x+2)
x =10 .o

3x(y-1)= Z"%(x+2)
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Multiply by 3 on both sides :

3y_3 =5x+10
-5x+3y-3=10

| _5x+3y=10+3

-Sx+3y=17
5x-3y=-7

QZ_.J-,/J:_.L![U-'-;)
Transpose 5x to LH.S
:_./...l.v.J_._J)’u: by 5x

Transpose -3 to R.H.S
el bl b

Multiply by ~1 on both sides

This is standard form

c—e-:ufc-—lfuﬁ’/
.‘Ugd‘&“:

YL T TS S ]

Multiply by 4 on boy, ;;e
; :.-5’3'1_../5.:_4,[_'3;
2x+ 1 =4y -4
2x+1-d4y=—4
Transpose 4y 1o LHs
“&blJA Ly,
2x -4y =-4-1 )
Transpose 1t R-H.s
GL(’L";)\I"JI
2x -4y =-5
This is standard form ez

2. Construct the following statements into |ipgq,
equations in two variables.

) 5y (i) The sum of two numbers is 1. -cl'.ll.ufr,w”
(V) x-1=-=3 -3 3 Sol. Let the first number =x
5y w7
Sol.x-1= Sl Let the second number =y
5y ‘ .w’/”l_{(tf./; ”
3xx =3x1 =3x X_E aAd : According to given condition AL Ay,
. i, x+y =11
Multiply b? 3on th}f;,jf (ii) The price of a book a)llld two pencils Rs, 90,
3x-3=5y-9 e e ; 9-%-:190-:4‘!UH»AL:_,D’_§
3x—-S5y-3=-9 i Sol. Letthe price of a book =Rs.x &
Transpose 5y to L.H.S i S/
el bd pSuf sy The price of a pencil =Rs.y &
3Xx-S5y=-9+3 ' : -:EJJ"-?'
Transpose -3 to R.H.S 3 Price of two pencils =2y
il skt -3 According to given condition DLy find)
3x—-Sy=-6 : x+2y =90
This is standard form .L‘)cd‘?’: ' (iii) The weight of Zainab is one third is weight of
) xT-l. = y_-;z % Hamid. - - -"a(jl‘?.gb’wixé..bu}:b’.,:d
: Sol. Let the weight of Zanab = x
Sol. "T"' & &32 NS Y/L
3 Weight of Hamid =y
sgxl‘_:lg,gx&z § O 1%
Z ] ¢ According to given condition JeLs i
Multiply by 6 on both sides : y
a.c_.;.;f'c.&fd-f) g o q
3x-3=2y+4 = sgeaiting : (iv) The sum of two times of Ist number and third
ran_srmf }f;’ : /2 !  times of 2nd number is 30.
3X_2y=44+3 Bl B ' -.CSOJJQ‘VU'JLMQ/’»A'U’MVJA—_('
Transpose -3 to R.H.S } Sol. Let the first number = x
el ShL 3 sl P
3x-2y=17 : the second number =y
This is standard form RO (Y 1810
a +1 : Two time of first Number = 2x
=7 = y=] : U’»Km%
oy f 3time of reeond number = 3y
Sol. g_r =y—~1 5 bfufb’wg/u
£ 2x+1 _ PENRIE'S : According to given condition J_tk‘.f_b/‘\}ﬁd’
# . : 2x+3y =30
ot

—
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o ——
PR AR =

| g o SR

—_—
(v) Sum of ages of Hania and Kahaf is 26 year, % A 10-x (x.¥)
..cl'_dlwlﬁ,u‘fru:/‘f_lful::b $ y 5
Sol. Let the age of Hania AP =xyears Jb i y o 10-5_5_ 5.1)
the age of Kahaf = y‘ycars Ju ok ) 3 50
According to the given condition J_'lb‘[.lv/‘éﬁd: y = 10-0_10_, (0,2)
X+y =26 . e '
(vi) The cost of three footballs and 7 basketballs is 10 y= IO'S'IO =%=O (10, 0)
Rs. 3000 - &230002 JUL e Ty il _ 4 g
Sol. Let the costof one football =Rs. x & -5 y= 10_5+___ A T 3 (-5, 3)
AN NN , —
the cost of one basketball =Rs.y &1, : yas LT L1 11 rL
3 : { N P I
-"".“.’JJEJL“.G E {5l r’,_;__
the cost of three footballs = 3x : o } r'—}»
ddeis s (] N
the cost of 7 basketballs =7y ¥ s —(10,0)
- 3 X !
_".{_'JJ(.JW 3  § 2 €00 5.7 554 -3- 4 2 345 61 8 910
According tg the given condition ALl dnd £ 2 AEEE T’ﬂl
3x + Ty =3000 3 AEEEH
(vii)If number and denominator of a fraction are : 4 N
2 : v l
decreased by 3, the fraction becomes 7. () 5x-2y=20
1 2 o -7 ) o i E - =
..q_.dl_od-’ S/CJ;LQLJ/Q/SabﬁJIoALChsﬁ/bg/G s Sol. 5% _;z:%g_ Sy
Sol. Let the numerator nﬁﬁl.’f-l:ﬁj"/' =X 2y = -20 + 5x
the denominator & AU/ =Y _ 20+5x
X : 2
the fraclion(/) = ; : 20+ 5x e
- a4 p X = ]
According to the given condition ALt 73w y 2
‘ x3 _2 ~20+5(4)
y-3 3 4 §= — g =0 (4, 0)
1 17 vl ey b fen :
g A, : s
[ sunpractice: Fdr | e - Loiz(jlﬁz 5 (6,5)
e Drawn the graph for th'é\f(")\ W ig equations. ; At Bl )5
R [/ ST P PR 2 y= _2_(_) =5 2,-3)
(@) x=-17 ¢ = LitneH o Ingl 3 810
) y=-4 : : 8 y=M=10 19
Sol. yfaxis ; 2
¢ g AV-axls
: . fam
x=-7 v 3 / lLI
? 7 W AR
y § 5
098] 654 921 . § 10” 5 6.5) L b
§1 x-axls : 4 T
y HERRNY. |
¥ v o S N EF SR EEENEERY. & u_g_;
. i X7 X-axis
. - : i H : / i
_}r X o = : ‘ / ‘ | o
ki : 5{—1f-2-9) -4
(¢) x+Sy=10 . o aus
Sol. x+5y=10 | : - 7 - l—l'r‘i"s 1
sy =10-x : T
10~ z : G ENS & aBh
. S0 5x § N ) Ir?li‘

PR

B s

—
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‘ % ' ni | i RN 75 S Ty | L LT
Solved Exercise 2.12 u’d’ : 8 2 . * J= “ S
P A AL L S A L S A XTI & i AL =y gt~ N wE
1. Plot each point and state the quadrant or axis where : NN NEERAREHEE AR ..
itis located. -c-d'»ulr’u.' AN Londiy T e T T e P
yjaxis P e -
8 g g;—“ S i e e S i N s i ) -
Cirzine—7 wd b Lod ) 3 3 1 .
: x : ~10-9-8-7 6:5-4 -3-2-1, 4 EEX
: S RN 1} i
4 3 . {3 b
(63 . E(34)— : L ne A
3 : I . B 3 AR
‘ 1i v 13 ANNE
WS 876543 3 -2 -1, EREEEERE s i I A . . Rt T8
X (-4,-2) 2 X-axis | € 10 ,UIE~
(-‘3,_{ : N 3 Draw the graph of the following linear equationg in
5 . two variables.
6 $ u-'J ._jlfﬁ.uibl/&nuf dbuf/“”d, o
$ () y=-3x+2
9 i Sol.y = -3x +2
VY] +D E'_mi’ X y=-3x+2 (x,y)
) A=(6,3) ) o2 y=-3(2+2=8 -2, 8)
Sol. (-6, 3) is located in quadrant I1. -.f_.dhg:dw_/uf é y=-3(0)+2=2 (0,2)
(i) B=(3,3) ) i y=30)+2=—4 2, -4)
Sol. (=3, -3) is located in quadrant II1. -.gc’lsuf d;c_ﬁ, § =_3(3)+ (@) =-7 3,-7)
(iii) C=(=2,7) i } ylaxis
Sol.(-2, 7) is located in quadrant II. -‘a.dbw B YR \ 1.2;3)\ 8
(iv) D = (6, -10) \is
Sol.(6,—10) is located in quadrant 1V. -:‘..dl;uid/i:;: 5
) E=(3,9) ) AL
Sol.(3, 4) is located in quadrant I.- _‘a(‘,’lsui d.:é;_';, %{“n*
(vi) F=(4,-2) ] N TR ER R EEE X 234 7 8 010
Sol.(—4, —2) is located in quadrant 111, -« Ol i 2 L 2\ X-akis
2. Draw the graph of the following linear equations in : . 7-4)
one variable. ~uf0LL UIblaBnt ULl s :A \
(i) y=-10 (i) x=6. § T \4:. }
(ifi) 3x+7=9 (iv) 2x -8 =23x :
Sol. 3x =9-7 Sol. 2x-3x =8 —o
x =2 SRR
A x =-8 5(n)y=2x—3
ok | : Soly=2x-3 Li
_5_ l 3
(v) 2y+9=23 (Vl) E E é X y=2x_3 (x’y) '
Sol. 2y =23-9 - |y=2-1)3=-6 (1,-6)
2y = 14 3 y=203)3=3 (3,3
y=l§. y=2(4)-3=5 4.5
y=1 y =2(0)-3=- 0,-3) |
{
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{

" o e
oy Gt (3,-%)

!

=0 (5,0)

T EXEELE

ET vl

(10,3)

109 -8-7 -6-5-4 -3.2 .1 axls

»
i
-

!
L= Y
 wills

8
3 | 3
A
=2)5- b
6 bl - r
. 4
7 o (10 )‘1
@ g
9 N : vl
A 0 b ‘11)’4

YRR R T e e T ]

10-0 -8 .7 -6 -5-4 -3 -
X’

rd

la;k
=)

(i) 2x -y =4 A

—
>
0
8

Sol.2x-y=4

b\ PO =
N
P

k\
=

[
-

-y=-2xt+4

y=2x—-4

X 72K (x,y)

-1 y=2(-H4=-6 (=1,-5)

FE R R EE

y=20)-4=-4 (0,-4)

y=2(3)-4=2 (3,2)

[V, QS I =)

PR L e e R N

y=2(5)-4-=3 (5,6 W) y=1x-5
ylaxls 2
8 Sol.y=%x-5
& 5.0)-g-
; 1 y=%x—5 (X, y)
’ I
21-3.2) 2 |Y=2@)-5=+4 (2,-4)
z 4 1 1
0-0 -B<7 b -5-4 32 -1, 2 345670010 : 4 =§(4)’5='3 (4,-3)
é ’:a_r‘lsﬂ § 1
4 p 0 = - -§=_
mmEA" = il =4 (0,-5)
7 1
ARNA i % it (-2,-6)
é 1T , ylax]s
ofy ;
(iv) 3x =5y =15 s
Sol.3x - 5y =15 4
=Sy=15-3x ;
Sy =—-15+3x A 1
- _15+3x § 'ID ) -8-7 -6-5-4 -3 1 4 ] m‘
5 i K 2 | -ais
3x : A
" y= XSIS § 4 \ J
26 P10 %
x ,,=3X;'5 (% y) r/l'd: ’
: 8 A
» _3(0)-15 3 '
S e ©-3) |i [ o4y

I
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: 5. Find {he value of x and y of the points A, E f |
= —X +4 - i 5 IF,
(vi) ¥ ! i andK for the given graph. K
o TER LSRG S e K, HL F, B AbGI(,
NEE TR E ¢
-2 : °K
§j = — § 2 - 6
6 [Y=3(©®*4=0 60 | :
y= () +4= A i1 B
0 3 o ©0.4 |i Je 2
: x-axis| f 4.
=<3 = 3 *109 8 76543210 1234567 = ()
3 - 7 FERERS (-3.6) |3 Fe B0 N
y=Z@3)+4=2 o
3 Boris (3,2) p
2 —6
e £ e BEERERK T ] 8 oy AN
B e 0 R l =
| ! i1 | k34 5 — -
EENEBANCUHER : Sol. A(6,3), E (3, 4). F (+4,-2)
TN T H(7,-8), (9,2, K 4, 7)
BEEEEERNEANTT
EEEREEEER S - ' ¥
SENNNEEREN.Y Solved Review Exercise 2 J nll f
E % l : | | ‘ !‘_Lz | ((3.2) P T IR I
T 60 1. Choose the correct option. . - /o @ ize,
10-9-8-7-6-5-4 3-2-1,| 1 23 45 5510 (i) What number was subtracted to make the
!‘% = l : ‘ f | {1 Ll 1] X-axis sequence 58, 5:5, §4,52?
EEREE | %3 q S¥nt/ ) Pt L0 kI 278 58,56,54, 51
ENBUMERENN @1 ®3 @2 @4
ESENE {12 (ii) In sequence: 30, 33, 36, ....... the next term is:
AR ANENEENR nfifit30,33,36,....... 5
HEREE 1 HER l (a) 38 0y 39 ()40 ()43
mE ] T : (iii) Which of the following sequence’starfs at 36 and
T T T T T T T Ny T having common_(}jffergncez?

e 2Pl Ot 6l i
(a) 34,3536 (b) 36.36,36(c) 36,39,42 [fl 36,38,40
(iv) The nth term of'the sédu{fi&@l o 5, y Ry

4. Recognize which of the following is an equation of
horizontal line or vertical line.

A e APtz e Lliae L Sug

_ C e fin$ 135, M
“7""/ (@) n*+1  (b) 3n+4 = [ 2niPI” "(d) 2n+l
(i) y= —;- (V) (24)3+ 14:

(a) 26 (b) z!2 (c) 22 z

(vi) Which one ol'the following is polynomial: _
' ey Pl

(a) 8x2+2 (b) 9x*+5x! [@2x2+5 (d) 343
. X

Sol.y= —;— is a horizontal line and parallel to x — axis.

- di'?&;f xu'é_}l/éu‘?l__ﬁ %

(i) x=18
Sol. x = 18 is a vertial line and parallel to y — axis.

e L ynle S  Lix =18

ii)The f: izati i die i
(vii)The factorization of x* — 4 is: :.;,.JZJX‘J :
(@) (x4)*  (b) (x-2)* (c) (x-4) (x+2)(x-2)

(iii) 2x=50—-x (viii) The example of linear equaiton in two variables is:

uuuuuuuuuunuuuuuuuuauuuuuuuuuuq«uuuuuuudu-nuuuuquncuuu«uuon-unnunuunnnnn-unnu-n-

Sol. 2x = 50 — x is a vertical line and parallel to y — axis. B iy P
s - -1y ] L]

-.L.U’)'PLJ;}‘Jﬂ‘L_EI .\,'ud::f..glx =50-x (a) 7x +3y -4z 6x + 5y = 10

vl = ey : . i ix=2+0 (d)y=1+3y

Sol.y = 12-2y is a horizontal line and parallel to x — % (ix) (9,—6) lies in .......... quadrant:

axis. , s -5_51“;5,.......(9. -4)
e GIPLF e SIS L y=12-2y (@)1 (b) 11 (c) Il v

g

el
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b

(x) The solution of 2x -3 = 7 is; et A 13 =

ms (b) 7 (©) 11 (d) 12

: 6. ‘_A painter used 2 litras paint In first week 6 litres
paint In the secand week, 10 litres In thirds week.
How much paint did he use on the 6th week, |f

.
.
N

2. Write the first three t::r?s of the following general

terms, W N ST ATRNEN Y

H 4n-9
Sol.a; =4(1)~-9=4-9=-5
=42)-9=8-9=-1
a3 =4(3)-9=12-9=3
-5,-1,3
(i) In+7
Sol.ay=3(1)+7=3+7=10
23=32)+7=6+7=13
23=3(3)+7=9+7=16
10, 13, 16
(i) Tn +2
Sol.aj=7(1)+2=7+4+2=9
a=72)+2=14+2=16
a3=7(3)+2=21+2=23

1 . :
3. Find 15th term of 8,=5— LA gk,

2,+4
|

‘Sol'a“=2.,+4
a, = l
“T2(15)+4
Y Yt PRI 3
30+4 34

4. Ali has Rs. 50 he spends Rs 5 each days. How much
money does he have left after 5 days?
S L UG-t BIL 15 pm-ut SOV S
T
Sol. Total amount of Ali = Rs, 5041/
SE
Amount spent in are day = Rs, 5&-4/
Sa/ f/d’ Lt
Amount spent in 5 days =5 *5
J&jljJ(f{tﬂUi’S =Rs. 25¢& 1/
Remaining amount (/4Jt) = 50 - 25
=Rs. 2544/
5. Aslam walks 2 kilometres on Momfay 4 kilometers

on Tuesday 6 kilometers on Wednesday how much
distance will he cover on Friday?

o:9b&ﬂ:‘6d:£a¢uf/"~’:’4w£&«}ﬁrZwéﬁﬁ’f
Sol NI N waé)?. eyl
Days name | Monday  Tuesday | Wednesday | Thursday [ Friday
ftﬁ.u/y y.2 tﬁ‘ o _:‘,/? .

Dist ;
vcrcdai'rlx 2 4 6 8 10

m
Y& Lotz

{ { » | » | | 3
1 B e S
So he will cover 10 km on Friday.

N7 /L/'-’-‘r’/ l()u;ﬁ.»{ugfv

-

PEBBABEIREBRARRERER IR

a
-
a
-
-

FG) Tx+8x+3,12x+2x 46

YIRS

a0

EEERCRR R R TR R )

AQaNdBLasndsaan

qaaqa

“" AEAdIddatd A adadaaadaiaqaatraqras

e sdaaadtetridandqeddradaded

pattern Is continued?

u-f)):' 1021 :.../:-nl)-r.'(;ﬁ c_/u...{/)JZzI %L AJJ..ﬁ
N SN E D e o

Sol. Paint used in first week
Y1 &
Paint used in second week
VAN PRy
Paint used in third week
QUL':".LQZIL/;
50 paltern J:‘kﬁ

= 2 litres 4
= 6 litres ¥
= 10 litre #

54-4

Paint will be used in fourth week = 10+ 4 = 14

b St Ehndi

Paint will be used in fifth week = 14 +4 = |8 2

Vo S iy £

Paint will be used in sixth week = 18 +4

b S 1 £ B 2

7. Add the following:

Sol. 7x*+8x+3
12x3 +2x + 6
19x2 +10x + 9
(i) 15x?-5x+2,7x*-3x -8
Sol 15x*—5x +2
7x?-3x -8
22x*-8x -6

(iii) 20x* + 8x - 10, 8x*-x -8

Sol 20x*+ 8x - 10
8x*—~ x—- 8§
28x7+7x - 18

= 22 litres X
-L[/UfJ_JJJM

8. Subtract the first polynomial form the 2nd
polynomial. -qu)L@;,?’d/uf&/:f&i ‘|

(i) 10x*—8x—5,15x*+2x +8

Sol 15x*+2x+8
+10x*F8xF S
5x2+ 10x + 13
(ii) 8x*-5x+2,7x*+2x -8
Sol. 7x*+ 2x-8
+8x?F S5x+2
-x*+ 7x - 10
9. Solve the tollowing.
(i) (8x'y?+3xy* +2)(3xy?)
Sol. (8x?y? + 3xy? + 2)(3xy?)

SIS s

= 3xy*(8x*y?)+3xy?(3xy?)+3xy*(2)
= (3x8)(x"*2 y*'?) + (3x3)(x !y 3 x2(xy?)

= 24x’y* + Ox?y4 + 6xy?
(i) (5x%y +8)(=2x+y)
Sol. (5x°y + 8)(-2x* +y)

= SX'y(-2x1Hy)+8(-2x7ty)
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A ——————— . Sice e .\

IO\‘”V + §x y“' i ]6,\'3-}8); § - xlyl(xﬂ—l y6~2 - x4‘2y3-2 + x2—rly2-2)
= ~10x%y + 5x7y? - 16x + By E = xlyY(xby -x2y+1)
1 : £ (if) 200* +10x~210
(i) (5(’"” ) Ha') : Sol. = 20%7 + 10x - 210
: =10(2x*+x-21)
(l m+— )2fm’+2) P = jo[xt+ Tx—6x-21]
4 P S 0[x(2x +7) - 3(2x +T)]

= 3 Cri(2mi+2)+ % @émt +2) = 102x +7) (x-3)

] (i) 4xe + 20 + dx?y + 2xy
[ L2\ (e 2) [ 4, ] 2 I g 1 2 Sol, = 4x* + 2x* + 4x%y + 2xy
'(1 Z)(( m )4(1)(;)(}‘)([ m)+(5xzj((m)+(§x2j : = 2x(2X* + X + 2xy + Y) i
e 2 2 P =2x[x@2x+1)+y(@2x +1)] -
g L e A g P =@+ 1) (x+y)
10. Divide the polynomials, - ff:’ffu tJ, & 1 14. Solve the lollowing linear equations:
() 10xy? by Sxy () 156mbydtmt %o 3,-7-3x SISl fip
Sol. = 10x’y? by 5xy Sol. = 15¢/m® by 3/m? Sol. 3x =72-3x
2
m 3-1y,2-1 1’5_ O -2 3x+3x=72—){+}x/
= |5 |7y - | |(¢"m™) B
Fa Z 6x =72
= 2x3y =5(°m=5m e O
(iii) (282°b* + 7a?b? + 14a%b*) by 7a%h? £\ W
Sol. = (28a’b* + 7a?b? + 14a*b?) by 7a?b? ¥ 312

(ii) 6x+3=23+x
Sol. 6x+3 =23 +x

6x-x+3 =23+ X=X

(e ger-ry o

= 4ab + 1(a®b) + 2atb

=4ab + 1+ 2a% 3 5x+3 =23

11. Simplify each of the following. S e B SR F-F =233

(i) 2x*-{d2x-2)-(@x*-312)} 5x =20

Sol. = 2x? — {4(2x - 2) — (4x* - 3+2)} A o
=2x2—{8x -8 -(4x2-5)} . e =—|_a Nt
= 2x3 — (8x — 8 - (4x* = 5)} gk AT VI
=2x*— {8x — 8 —4x? +5)} (ifi) 28 - x =17 + 3x 0tib0S iy o

=2x*— {8x—4x* -3}
=2x?—-8x+4x*+3} =6x*—-8x +3
(i) 5x—[-2x+5- {2x* - 5x +2}]

Sol. 28-3 =17+8x - 3/ . .
28— X+ X =df+3x+xyu
28 =17 +ix. = 70

Sol.=5x — [2x + 5 — {2x? - 5x + 2}] G819 = g
= Sx—[-2x + 5 - 2x34 5x - 2] 8 g =4J;7 M +4x
=5x— [-2x2+3x + 3]

= 5x+2x*—3x-3=2x+2x -3 ; _14_1 _ A
~ 12. Simplity the following. S s A
(i) (7x=3y) (7x +32) b 1_41

Sol. = (7x = 3y) (7x + 3y)
=(7x)* - 3y
= 49x? - 9y?
(ii) (3a—5b)(3a + 5b) - (4a -2)?
Sol.=(3a-5b)(3a+ 5b) - (4a - 2)?
= (3a)* — (5b)* - (4a)* + (2)* —2(4a)(2))

(iv) 3 (4 +x) =510 + x)
Sol.  3(4+x) =5(10+x)
12 +3x =50+ 5x

12+ 36 - 34 =50+ 5x - 3x

4 Cl‘ll‘l‘iltlil1l‘1C(CGQCC'll‘!!‘Qﬂ‘l'l(i“.ll!l1'11‘11!!011141ll11llliII‘l‘l!i.'llli(‘ll1111“111!.‘(40'."..’DDDID'DI)."DPDDIlllDDIDIDIDDDDIDDIDIDIDD

= 9a% - 25b7 ~ [(16a* + 4 ~ 16a)] S
;g;al fggE;J?ZaZT i 12-50 = 50 - 50" + 2x

13. Factorize the following. YSRGS s % ;;3 =2x

(i) xByS — x4y? + xty? : ‘19T : %5

Sol, = xBy® — x¥y? + x%y? : 1 .

| - e T .
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S ——

W

15
4 )/5, x+10
— o ——
»
4%5 =x+ 10
20 =x+ 10

x )5

X =4
15. When 18 Is subtracted from six times a certain
number the result is -42 What Is the number?

nlfoms-¢ t‘m}" b—4272 L/ lsc-b‘:[l:uuf -
Sol. Let the required number =x
Py
6 time of the number = 6x
¢ 6ku <
According to the given condition 1t + 40 WLL/U’J:
6x—18 =—42' T
6x — VB + 8 /=-42+718"
6x =-24+ !
Ho
g £
x=-4
- 50 —4 is the required number —e b
16. A certain number added twice to itsell equal 96.
What Is the number?
b /?')“'u-f. " 9674.%/&()‘-’ Wl i, sl
Sol.Let the required =x '
number
-’”—."b E((f/
two time of the number = 2x
" 2w
According to the given condition
Xx+2x =96
3x =96

o
b RN

AL 286

x =32 )
50 the required number is 32 - 3214y e
17 Construct the following slalemams into linear

equations. ./ AL ebdatiatidipe
(n) The difference of the two number is 13.
: -c.lJJ/V:’x'n
' Sol.  Let the first number = x
sk S/
‘ second number =
: 14179
i According to the given condition Jel b/‘d’ J
: x-y =13

BERRRSRRRRRIDEDRERRRRRRRRD

‘l‘i‘l‘!‘!I‘l“(‘i'llllIDII"I.II."DIDII'.

1den

ECLEEEEEERETRRAL]

l‘(CI‘I‘ICI.“‘CI('I(III'l‘llll".‘ll‘ll'llll“!l(l.‘llllll

[EREEEERR L}

: (b) In a two digit number. The units digit is thrice
the tens digit.

-q..l:«ﬂ-}fc.)aﬁéy:zfrt!’éﬂgﬁmo‘ﬂu-_ﬁ

Sol. Let the tens digit = x
.///.b’dl,:k(u"/"
units digit = 3x
skl

According to the given condition J‘,WZ.L}J'J:
10(x) + 3x = 13x

18. Plot each point and state the quadrant or axis where
it is located.

-tf—éb{/f&d} d}d,fdi\i&)';}_/’};@)@ﬁ
() L=(92)
Sol.(-9, 2) is located in quadrant 1. _

-4.(‘5 ly o dJa./u(—‘). 2)

(i) M=4,7)
: Sol.(4,7) is located in quadrant I.
(iii) N = (8, -1)
Sol.(8, 1) is located in quadrant IV.

-;di.u'dm_f(s 1)

Ot tida, 7

H Y
1
& M{47)
§
4
L(-9;2 2
NEIEBEEREER 1 2 3 4§ 5"3’ )
2 N(B=1)]
k|
4
5
6 . I S
7 — .
8 ke ¥ ",,,_J[.J .
g4—t——t—f—t—1- f".""“{'"
SRR
\ b4 o
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19. Draw the graph of the tol!owlnn linear equations.
oL edL anrancd Ly g |

‘nju

A

R

44
A

& X
|

.-
1
-
$-
i i
Pl ke d

qyed0

S N 5 N
t_‘._, ket
3

W o } . "
an e TS > el
| + i, il _ui.
il Li‘;r
4 . - 1
; 1 iR 1
k 634 321 4
q EER R EENY
2 4 _{h_.k..._.‘.'.'!‘!
3 | |
i 4 l b, 1 it
] 1 lg 1] Ll
¥ 1T
1 < 44
M & RS
1= i l ¥ | : H
pH
i | L 44
e 5 S EE.

(v) 2x +4y=8

Sol.2x +4y =8
dy=-2x+8§
_ =2x+8
©e

(i) y=6
Sol.y =6
(ii)y-3=7
Sol.y-3=7
y=7+3
y=10

S —

Py dy 2y = 1

: Sol. }

$
i ¥y

2y

xt2y~ |2
Ix+ 12

~Ix 412

.

g e

y=

12

-Jx 4
2

‘_[‘I.lh Y1183
p f 1]
:r*[ 1 1
Al 11T ET11]
- HERERSRENERS
8t ! 1 +
—t 3 ———2—1-1 } : —$1
“'blhl"z’-' T
" l"1 = 8 ¥
“ ARERES
409 -] - 1 : o
gans Y
Jr.{_.‘ i S T e - »-r-l Fes B, 5
oy - - 'HWF
—I—»J&-;«p B A S ] —1—-‘ = e s —‘»1——u—4« e
._.,,‘q,_'_ +- S & —]-}Nﬂ—
DSOS S B ey | - =t .
I X .% .lp'l—- — 4 4 —p' 4§+ R

o

_3(0)+ 12
._..-2——-——- =
-3(2)+12
——‘-——6—

~3(4)+12
==

6

3

0

-3(6)+12 _
_———'-,-—-—‘-‘—-"

L e Y

-

1em
4
| e

!

5—_}_._ ia

T
;

1]
T

(EERERRRS RSN ER 2
|
1 L
.- ) - -4 f.
v ! | !

} T
JEEEEEEE
A RS Es
P

pLp
T_.f-JH_“a . .

wY

H { R
¢ ,».._?.v._f_v, _.,‘,_

=

+— . _F_I _{__;—.l.v‘..
-

o 0o B Bk R

-

y

the following graph.

-Q/?:'"‘fzgf yulu—_.mf H:an.Fiﬁc.dei-."
Sel. F(-3, 3), G(0.1), H(3, -1)

1,1,
of the

points F, G, and H Jor

LR L R R R Y]

$ y-axis

FASguatadqaddvenvdsatqacs

Al Feadeaqacdain

3 4 5 6
H
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21"aecugnizc which of the following equations : 15.

represent horizontal or a vertical line.
S SIS AP ST e UT S s

~utdedtS
S{'L}\*-/’:SS . "
it is horizontal line graph. _+dhd|/'KJuJ’|:

(i) Jx-8=x+1l1
Sol.4x ~ 8= x+ 11

it is vertical line graph.
(i) 2x(x+2)=42
Sol. 2(x * 2)=42

it is vertical line graph,

-;.('}'E:Jr/’ufﬂd)/:
(OBJECTIVE TYPE QUESTIONS )

Questions Based On New Examination Techniques

~Knowledge, Understanding & Analysis

o Encircle the correct option. _‘,fﬁu’lu/.f.u”vfcxu

(. 1f5,6,7,8,..., then 15" term is: ?Jnr)ls‘h
19 (b) 20 () 21 @2

3. x+2=6isasentence: e Al
@) open W (b) close 4

(d) None JZ0f

- 18x +y

(¢) General (b
3. In 18x +y, the constant is:

(a) X (b)y ()18 [l none Uf
4, Tx442x3+10x? called terms: :u_?dm»fr}
) like (=S (b) unlike &
(c) botha, b Usn (d) none gﬁﬂf
5. lnx+10=12.,x= e §
(a) 1 (b)p4 (c)3
6. How many types of polynomials: :ujrlﬁl‘f&:’d{'
(a) 1 (b) 2 many G( (d)4
7. 2x*+7is polynomial: e Sy

(a) Mono polynomial S5 [ Poinomial K
(c) Trinomial F*7-- (d) None 05
8. (dxH+2x+5)H3Ix—4x+2) = _
(a) TxH2x+7 (b) Tx=2x=T(c) Tx*+2x-T[l 7x*-2x+7
9. (2xy) (Bxly)=___

(a) 6x%y? 6xy?  (c)6x%y?  (d) 6x%y
10. 8x4yS+2x3y3=

(a) 4x2y 4xy2  (c)4xy (d) 4x2y2
11, (a-b)t=

(b) a2-b2+2ab
(d) a2-b2-2ab

(a) a2+b2+2ab
az+b: 2ab

12. (2a-3b)}=

(a) 4a’~12ab-9b? (b) 4a2+12ab-9b2

(c) 4a2+12ab+9b? @) 4a2-12ab+9b?
13. (87)2=

(@) 7369  (b) 7469 7569  (d) 7669
14. 107 x93 =

(a) 9948 (b) 9949 (c) 9950 9951

AEddqadEddadadaaqadedaa

a

trpeEban

16.

17.

18,

—eablfaugt,

BERERERRIRRRELY

BEBBBELBBERIRD

O I T T Y

EEERRERRERE A2 22 )

Addedqedqueddqdeidd

AEAIIEUEEEaTEdetaeatdaddadd

44 4e444daedeaedacqddddadq

19.

20.

21.

22.

23.

24.

25.

o
1.

ac+ad+he+hd=

B/ (a+ b)c +d) (b)(a h)(c 4liJ
(c) (a+ b)(c-d) (d)(a-bj(ctd
If x =2 then value of 3x + 5: -».-r,')g”f"&z
(a) 8 (b)9 (c) 10 (Il
Sx-1=2(x=5),x=____
(a) -1 (b)-2 -3 (d)-4
In Cartesian coordinates origin is ,
el fa N
/o0 ®©OnH @06 @D
In (x,y), x called: e bl x
@ Abscissa L (b) Ordinalc,_*,-_-':in'
(c) Plane ;; (d) Origin 7/
In I-quadrant the signs are used: h
(Ot I e 56
B+ O ©HD D)
In 11I-quadrant, the signs are used:_ i
i OIS s s e 2
@+ M) ©H B
The point (2, 5) lies in quadrant:
;.L,_;..a,g;,((z, 5)h%
1 (b) I1 (c) I (v
Eint (1,-5) lies in: :.:-_b'l,jr'
(a)l (L) 1 (c) M ()|
Point (=7, 1) lies in: e Ohl
(@)1 (by I il (d)yJV
The point where the line intersects the X-axis
called: e blet/TY,; (A ix kUl S

(b) y-inlercepg tfl?)

[ x-intercept Ehx
(d) None =07

(c) z-intercept iz

Give short answers. a2
What is number sequence? ﬁ'q_.l_f.,.;}&w

Ans. A number sequence is an ordered list of numbers.

2,

...‘L._"—-f/jg{}‘ﬁ'.,-_:}u(."ﬁl
What do you mean by term to term rule?
v.g:yt_fa.uﬂcl,ﬂc.&

Ans. A term to term rule is used for a sequence in which

3.

the next term is obtained from the previous term.
Lo e Pl DL L rudee bl
et S e

What do you know about Algebra?.
R A LA T

Ans, Algebra is branch of mathematics, which is related

to mathematical operations, variables, constant as
well as concept of equations and algebraic structure.

el L = Uﬁ*,;,lf_:"‘Jff 8_1.4 iR i,tﬁ..gufcb&ﬂ,é'

4.

-.‘;.J’L/r. Lok l/,{mu.v"'b'

What is open sentence?

Ans. An open sentence is neither true nor false until the

unknown values. Have been replaced by the special
value. For example: x + 2= 6
Llostsptad bt S F b finle trornic A
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X+2=§ {;r‘.id&

3. Whatis Alegebraic Expression. fg_g‘.}dﬁl,l_ﬁ

Ans. An expression which connects variables and
constants by mathematical operations (+, -, », - ).

-LQUJZL(“""‘*)J',\SPL’-’(@ L;:":l'..'.’,é:‘:?l/-’...('

6. Define constant.

Ams. A quantity which cannot be changed,

—”‘J.A_:-'rb{:.llj“" .
Tiggf/u.eifg; 3

the different :

7. What is unlike term?

Ans. The algebraic terms that contains
variables with same power or same variable with
different powers.

S LS Lt E B2 e
sl

8. What do you mean by inequality?

?.GJ‘/L/;&‘IV/.;

Ans. When two algebraic expressions are not equal and
are connected by symbol (>, <, >, <) called
inequality.
.:.':by:fun;.?.c..2:S'>c<u?wu’y:;,:b:.:.' -;J/:‘;":J-_—’.

, .L&Ll:'(

9: How many types of polynomial? '

vu_:(ucu";(._k“z’dg

Ans. There are many types of polynomial.

Y I AN 1

10. What is Binomial? e U

Ans. A binomial is a polynomials having two terms
2x%4+22, -dﬁufywu(u)'{— vwfo'{&"-{'df”

11. Add 4x*#2x+5 and 3x*—4x+2, LY

Ans. (4xH42x+5) + (3x*—4x+2)

= 4xH2x+5+3x24x+2 = Tx*-2x+7

12. multiply (2xy) and 3x%y. Iy
Ans. 2xy + 3x%y = 6x%? N
13. Simplify 4x%(x—y) + Ty(x+y) o
Ans. 4x3(x-y) + Ty(x+y)

=4 -4xly + Ixy + 7y}
14. Prove that (at+b)’ = a*+2ab+b’ -q/_-,.v

Ans.(a+b) =(at+tb)a+bh)

=a*’+ab+ab+b*=a?+2ab+b’

15. Prove thata’-b*=(a-b)(a+b) -.[/_-z.t‘
Ans.(a-b)(a+b) =a’-26+26-b°
=a*-b
' 16. Solve (2a—-3b)* A4
Ans. (2a - 3b)* = (2a)* - 2(2a) (3b) + (3b)?
=4a*— 12ab + 9b?
17. Solve (103) WA 4

Ans. (103) = (100 +3) = (100)* + 2(100)3) + (3)}
= 100000 + 600 + 9 = 10609
18. Solve 107 x 93 o4
Ans. (100 +7) (100 -7)
= (100§ - 7% = 10000 - 49
= 9951

LI

B, /]

: 19, Factoring 2x! — dxy + 8wz w’):;
i Ans. 23 - 4xy + 8xz ‘-
: = 2x(x - 2y + 42)

toring x* +9x + 18 ,
- 20. F.c g _ x) + 3x r 6! 4+ ls .qlbfi

g 2+9x + 18
: Ans.:x(x +3)+6(x +3)=(x*6)(x+3)
21. Define linear equation. 'd'fwk,“:’f‘f"'\-—d ;
: Ans. A linear equation is an equation in “"hichm
: highest power of variable is 1. .
e LA SIS e
22. Sum of ages of Amna and Asia is 25 yep,, 'r:‘
in statement.
A e S Jrsad .1,
Sol.. Age of Amna /J;f_ = x years Ji '
Age of Asia /J._/l =y ears Ji
Sum of ages s+ KUsf x+y=25
23. Define axes. _q/u&‘_?ﬁ.r:
Ans. The two intersecting number lines (hy -
perpendicular to each other in cartesian plan, r-:
known as Axes are is x-axis and other is y-ayjs.
-u’_TZ:—fg‘;gZng,J:/Juﬁ;(-_/,,_-ﬁb-d "0'-'»‘.-:
=& =yl f-(i.k,
24. What is origin? fe Vi,
Ans. The point of intersection of horizontal and venicy
Jlines is called origin. It is denoted by (0, 0). '
&g z«;?‘/:l{gﬂu&‘ ‘.—fd”(b/”zﬁa‘u)'iifi,;&;
' -FL b0
: 25. How many quadrants of a plane? 20L& L

: Ans. There are four quadrants of plane. -u'_r&,q',ﬁaé

BARERBRARRRRERSY

R N R Y

BRARY Y

LA

LR N N Y

: 26. What is absissa? feilpe s
Ans. (X, y), x is called abscissa. -dsi‘_f}‘] XL y)
27. What is ordinate? T.aﬂ/t_f;_u;u

Ans. In (x, y), v is called ordinate.
- ezh y Ly
28. Where is point (4, 1) located in plane?
te Sl
Ans. In (4, 1) 4 and 1 are positive so, it is located ia
I-quadrant.
-;.ﬁ';gﬁ C‘;ég,ﬂ,’u{:‘;«} st kg L4, e
29. Where is point (-3, 4) located in plane?
Y‘Ldbuu:;d‘e(—l, 0;.
Ans. (-3, 4) located in Il-quadrant because x = -3,y =*
~ey=4.ulx=-3 ..Ql..x:_dh\_ﬂ Lic /»Z. rﬁ(-l 45
30. Where is point (4, -3) lies in plane?
te Zhud Ll 95
Ans. Point (4,-3) lies in 1V-quadrant because x=4, Y
- x=4,y= —3.5'.(&.5':& 512.(-‘:-0.4(4-‘3?;'
31. Where is point (~4, -3) located in plane? _
T.:;,dl,u'./‘;cﬁ(-«l,ﬂ”’
in 11l-quadrant becaust

AAGdddirdtaddanidacaae

Ans. Point (-4, -3) located
X=-4, -y=_3,

~EA =y = A8 e i AL

L R FR R RSN RCLE LR RESRERRIIIe T
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